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Ex/ED/Phil/2.9/56/2018(Old)

BACHELOR OF ARTS EXAMINATION, 2018

(1st Year, 2nd Semester)

PHILOSOPHY

(Logic)

[Old Syllabus]

(Extra Departmental Course)

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

Use a separate Answer-Script for each group.

Group -A /

1. Construct a formal proof validity for the following : 5×2

(a)

  /

A B
C D
A C
A B F F D





   
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(b)  

   /

P S R T

P M
S T
P M S T P R

    



    

Or /

2. Prove the invalidity of the following : 5×2

(a)  
 
       

P Q R

P Q R

P Q R Q P R P Q

 

 

      

(b)  
 
 

   
 

D E F

G H I

E I J

I G H G

J G I D

 

 

 

  

  



 

  
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3. Test the validity of the following syllogisms by means of Venn
Diagram : 2½×2

(a) EEO-II

(b) EIO-III

Or /

4. Use truth-tables to characterize the following as tautologous,
self-contradictory or contingent : 2½ × 2

(a)      p q r p q q r           

(b)           p q p r p r p r q r              

Group - B /

5. Discuss Mill’s method of agreement with examples. What is
the utility of this method ? 8+2=10

+ =
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Or /

6. Explain induction per simple enumeration. Do you consider
it to be a scientific method ? 8+2=10

+ =

7. What is an analogical argument ? Discuss with an example.
5

Or /

8. What is scientific explanation ? Discuss. 5

—————

[  4  ]

1 / 12 - 3 5


